
7C.555-E
CTLS Issue 9

(KR 2206)

FR 시리즈 
에어 필터 레귤레이터

제품의 개발 및 개선을 위하여 사전 통보없이 규격변경을 할 수 있습니다. 본자료의 유효본 유무를 확인하신 후 이용하시기 바랍니다. KP 2206

● 개요
FR 시리즈 에어 필터 레귤레이터는 컨트롤러, 전송기, 파이로트 포지셔너와 같
은 공압식 기기에 여과된 압축 공기를 공급하고, 소량의 유량과 일정한 압력으
로 부식이 없는 기타 가스를 버블러에 공급하여 퍼지 또는 시스템 등을 측정하
는 데 사용된다.
레귤레이터에 내장된 효율적인 필터는 요구되는 공기 품질을 보장한다.
대용량 볼과 배수 콕을 사용하면 응축수를 수집 및 배출할 수 있다.
FR 에어 필터 레귤레이터는 또한 특유의 작동 원리로 어떠한 부하에서도 채터링
이나 진동이 없다.
압력 게이지를 설치하여 감소된 압력 표시를 통해 설정 작업을 개선할 수 있다.
공기 배기 가스 회수를 위한 연결부가 있는 모델은 비산성 배기 가스용 ISO 
15848-1에 따른다.

7C.555-E
Issue 9 - 2020

Local regulations may restrict the use of this product to below the conditions quoted.
In the interests of development and improvement of the product, we reserve the right to change the specification without notice.

© Copyright 2020

Page 1 of 2

Descrizioni
The FR series air filter-regulator is used to supply with filtered 
compressed air at constant pressure pneumatic instruments such as 
controllers, transmitters, pilot positioners and to supply compressed 
air and other not corrosive gases at small flow rate and constant 
pressure to bubblers for purging or measuring systems, etc.
The efficient filter inbuilt in the pressure regulator ensures the 
necessary degree of air purity.
A large capacity bowl and a draincock will allow collection and drain 
of condensate.
The operating principle of FR regulators is free from chattering or 
vibrations at any load.
A pressure gauge can be installed for the reduced pressure 
indication giving improved setting operation.
The models with connection for air exhaust recovery are in 
accordance with ISO 15848-1 for fugitive emissions.

FR Series 
Air Filter Regulators

General specifications

Use destination The filter, in accordance with 2014/34/EU Directive (ATEX), is designed for use in potentially 
explosive atmospheres II 2 GD

Application Instrument supply air pressure control

Types, reduced pressure ranges and 
codes for order

FR - 20 0.2 ÷ 2 bar 7.863.4801.020

FR - 35 1.5 ÷ 4 bar 7.863.4801.035

FR - 75 3.5 ÷ 7 bar 7.863.4801.075

FR - 20 with connection for air exhaust recovery 0.2 ÷ 2 bar 7.863.4801.120

FR - 35 with connection for air exhaust recovery 1.5 ÷ 4 bar 7.863.4801.135

FR - 75 with connection for air exhaust recovery 3.5 ÷ 7 bar 7.863.4801.175

Maximum inlet pressure 15 bar

Air flow from 2.5 to 9 m3/h (see table)

Maximum KV 0.7

Filtration 5 µm

Materials

Body Die cast aluminium

Inner valve Stainless steel

Valve seat Brass

Setting spring Cadmium plated steel

Adjusting screw Chrome plated steel

Diaphragm Syntetic rubber

Filter cartridge Sintered bronze

Connections ¼" NPT for air inlet and outlet
1/8" NPT NPT for pressure gauge (plugged)

Output pressure gauge (on request) Ø 40 mm range

0 to 2 bar (30 psi) 7.864.1101.030

0 to 4 bar (60 psi) 7.864.1101.060

0 to 7 bar (100 psi) 7.864.1101.100

Enviroment temperature limits maximum +80°C   minimum -20°C

사용 목적 필터는 2014/34/EU 지침(ATEX)에 따라 폭발 가능성이 있는 대기 II 2 GD에서 사용하도록 설계되었다.

사용처 공압식 제어 설비

타입 및 범위

타입 압력 범위

FR75 - 20 0.2 - 2 bar g

FR75 - 35 1.5 - 4 bar g

FR75 - 75 3.5 - 7 bar g

FR75 - 20 with 배기회수 연결부 0.2 - 2 bar g

FR75 - 35 with 배기회수 연결부 1.5 - 4 bar g

FR75 - 75 with 배기회수 연결부 3.5 - 7 bar g

최대 1차측 압력 15 bar

압축공기 유량 2.5 ~ 9 m3/h (표 참조)

최대 Kv 0.7

필터 사이즈 5 μm

재질

몸체 Die cast aluminium

내장 밸브 Stainless steel

밸브 시트 Brass

조절스프링 Cadmium plated steel

조절나사 Chrome plated steel

다이아프램 Synthetic rubber

필터 카트리지 Sintered bronze

연결방식
압축공기 연결부(1, 2차측) - ¼" NPT
압력게이지 (플러그) - 1/8" NPT 

2차측 압력게이지
(요청 시)

Ø 40 mm 공급 범위

0 ~ 2 bar g

0 ~ 4 bar g

0 ~ 7 bar g

주변온도 -20 ~ 80 °C

● 기술 정보



■�본사 : TEL(02)3489-3489, FAX 525-5766  ■공장 : TEL(032)820-3000, FAX 032-811-6215  ■한국스파이렉스사코㈜는 로이드인증원(LRQA)
으로부터 ISO9001(품질경영), ISO14001(환경경영), ISO45001(안전보건경영), ISO50001(에너지경영) 인증을 취득하였습니다.

번호 부품

1 Adjusfing screw M8 x 45

2 Lucknut M8

3 Identificafion tag

4 Spring bonnet

5 Upper spring seat

6 Setting spring

7 O' ring

8 Diaphragm kit

9 Base body

10 Plug support

11 Filter bowl gasket

12 Plug

13 Plug spring

14 Filter upper gasket

15 Filter cartridge washer

16 Washer

17 Filter bowl

18 Body screws M8 x 22

19 Filter fixing screw

20 Filter cartridge

21 Drain valve

22 Filter lower gasket

● 부품 정보

Via per Cinisello, 18 - 20834 Nova Milanese (MB)
Tel.: 0362 49 17.1 - Fax 0362 49 17 307

7C.555-E  Issue 9 - 2020.10 Page 2 of 2

Pressure gauge

¼" NPT
connections

2 holes
Ø M6 x 8

16
0 

- 1
70

3065x65

61
30

65

Principle of operation
Reduced pressure value is set by spring (6) compression rate. Outlet 
regulated pressure, applied under the dia phragm, compresses the 
spring modifying the plug ope ning degree according to the air flow 
rate requested. Any undesired pressure increase exceeding the set 
value causes diaphragm to rise and bleed orifice at the cen ter of the 
diaphragm plate to open thereby discharging over pressure.
The hole drilled in the spring bonnet permits the air dis charge to 
atmosphere.

Adjustment of regulated pressure
Loose the locknut (2), and adjust the setting of the spring turning the 
screw (1) (see sectional view) clockwise to increase outlet pressure 
or counterclockwise to decrease outlet pressure. Tight again the 
locknut after adjustment.

Maximum recommended air flow 
with 1.4 bar outlet pressure
Inlet pressure (bar) 3 5 8 10

Flow rate (m3/h) 2.5 5 7 9

Recommended spare parts
Description List of parts Code number
Regulator assembly 8 - 11 - 12 - 13 3.863.4750.215

Filter assembly 11 - 20 3.863.4750.216

Dimensions (mm) - Weight 0.75 kg

List of parts
1 Adjusfing screw M8 x 45

2 Lucknut M8

3 Identifìcafion tag 

4 Spring bonnet

5 Upper spring seat

6 Setting spring

7 O' ring

8 Diaphragm kit

9 Base body

10 Plug support

11 Filter bowl gasket

12 Plug

13 Plug spring

14 Filter upper gasket

15 Filter cartridge washer

16 Washer

17 Filter bowl 

18 Body screws M8 x 22

19 Filter fixing screw

20 Filter cartridge

21 Drain valve

22 Filter lower gasket

● 작동 원리
감압 값은 스프링(6) 압축률에 의해 조절된다. 다이어프램 아래에 적용되는 2차
측 조절 압력은 요구 압축공기 유량에 따라 플러그 개도를 수정하는 스프링을 압
축한다. 설정값을 초과하는 원치 않는 압력 증가는 다이어프램을 상승시키고 다
이어프램 플레이트 중앙에 있는 오리피스를 통해 공기를 블리딩하여 과도한 압
력을 방출한다.
스프링 보닛의 홀을 통해 공기는 대기로 배출된다.

● 공급가능한 정비부품

Regulator assembly 8, 11, 12, 13

Filter assembly 11, 20

● 치수(mm) - 무게 0.75 kg

Via per Cinisello, 18 - 20834 Nova Milanese (MB)
Tel.: 0362 49 17.1 - Fax 0362 49 17 307

7C.555-E  Issue 9 - 2020.10 Page 2 of 2

Pressure gauge

¼" NPT
connections

2 holes
Ø M6 x 8

16
0 

- 1
70

3065x65

61
30

65

Principle of operation
Reduced pressure value is set by spring (6) compression rate. Outlet 
regulated pressure, applied under the dia phragm, compresses the 
spring modifying the plug ope ning degree according to the air flow 
rate requested. Any undesired pressure increase exceeding the set 
value causes diaphragm to rise and bleed orifice at the cen ter of the 
diaphragm plate to open thereby discharging over pressure.
The hole drilled in the spring bonnet permits the air dis charge to 
atmosphere.

Adjustment of regulated pressure
Loose the locknut (2), and adjust the setting of the spring turning the 
screw (1) (see sectional view) clockwise to increase outlet pressure 
or counterclockwise to decrease outlet pressure. Tight again the 
locknut after adjustment.

Maximum recommended air flow 
with 1.4 bar outlet pressure
Inlet pressure (bar) 3 5 8 10

Flow rate (m3/h) 2.5 5 7 9

Recommended spare parts
Description List of parts Code number
Regulator assembly 8 - 11 - 12 - 13 3.863.4750.215

Filter assembly 11 - 20 3.863.4750.216

Dimensions (mm) - Weight 0.75 kg

List of parts
1 Adjusfing screw M8 x 45

2 Lucknut M8

3 Identifìcafion tag 

4 Spring bonnet

5 Upper spring seat

6 Setting spring

7 O' ring

8 Diaphragm kit

9 Base body

10 Plug support

11 Filter bowl gasket

12 Plug

13 Plug spring

14 Filter upper gasket

15 Filter cartridge washer

16 Washer

17 Filter bowl 

18 Body screws M8 x 22

19 Filter fixing screw

20 Filter cartridge

21 Drain valve

22 Filter lower gasket

1차측 압력 (bar g) 3 5 8 10

유량 (m3/h) 2.5 5 7 9

● 최대 권장 압축공기 유량 (2차측 1.4 bar g) 

● 압력 조절 방법
잠금 너트(2)를 풀고 스프링 설정 나사(1)를 시계 방향으로 돌리면 출구 압력이 
증가하고(단면도 참조) 반시계 방향으로 돌리면 출구 압력이 감소한다.
조정 후 잠금 너트를 다시 조인다.


